Z:(2000)AFSIJHEH] B (2400) =EH L X A ALSIHE B (2410) &4 - K| = MIE: (2411)H SR 2 2] HIAIE: (210) 2 & AL REEERE])
ni; = p) P! 2 5
O &b <R | < N = J| =
I 2 S MIE. NIMIE =2 O]l A oH = 3 o
2000 [=2 0 & 2,100,000 Xl 0 & 3,457,010]
ISP EIRE] 61,305,610 55,748,600 5,557,010 [2I 0 2 0 o 0 ]
2400 [= 0 & 2,100,000 Xl 0 & 3,457,010]
ZREH QI T AFS| O | 61,305,610 55,748,600 5,557,010 [2I 0 = 0 0 ]
2410 [=2 0 & 2,100,000 X 0 & 3,457,010]
S AR 61,305,610 55,748,600 5,557,010 [2I 0 2 0 o 0 ]
2411 [= 0 & 2,100,000 Xl 0 & 3,457,010]
PaR=psEs il 61,305,610 55,748,600 5,557,010 [2I 0 = 0 0 ]
200 [=2 0 & 2,100,000 Xl 0 & 3,457,010]
AHS Ol A 61,089,010 55,532,000 5,557,010 [2I 0 2 0 o 0 ]
210 [=2 0 = 0 X 0 & 3,457,010]
BXAIY 32,059,010 28,602,000 3,457,010 [2I 0 = 0 0 ]
401
NE=LE =] 9,000,000 3,000,000 6,000,000
CHHI
8,455,000 2,915,000 5,540,000|01 Al&H]
o2 HEZZ HA (U=2ABAH) 5,540,000
() 5,540,000
- 2XBA L Z Al (L=6.63kn) = 5,540,000
() 5,540,000
527,000 77,000 450,000(02 2+2IH]
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ZH:(2000)AFSIOHERH]  2t:(2400) =S XIHALSIOHE & :(2410)FEH - XA Mgt (2411) A & = 2re| NIAIEE: (210) B =AY [ME] [ & )]
ni; = p) P! 2 5
ooeooy | ® & £ ] L
ABLE ONE NNE = o & % | x A o
cuNIY dECRAM (HSHE) 450,000
=) 450,000
18,000 8,000 10,000/03 Al CHH|
cuNI QTR A (USHE) 10,000
" 10,000
403
UXEME | 23,031,010 25,574,000 A2,542,990
X0l
23,031,010 19,574,000  3,457,010/01 R KB UK =%
SMLHBIR 2HNEE X (AHAR)
(216,000,000 - 220,000,0002!) x 50% - A2,000
" 2,000
SHLHBR FANNY (BF, S, &)
4,941,442,00021 X 70% - 3,459,010
z 3,459,010
0 6,000,000 A6,000,000/02 & IS 0l CHEHCHEH Al
cuNIZ HECR Na (HSHE) - 16,000,000
(2)  £6.000,000
220
X AL 29,030,000 26,930,000 2,100,000
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(2000) AFBIOHEH] 241 (2400) =L RIFALSIOHE & :(2410)FH - X & Mgt (2411) kel NIAIES: (220) KR ALY [NE] [ 2]
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= 7| eS|

oy
o
]
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ML AAE =2 of &b o
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rt

403
XS 29,030,000 26,930,000 2,100,000
=01 &

29,030,000 26,930,000 2,100,000 01 KtXIEHMAtE 2
oU&E ZAHECZ(HE 208)
400,000,000& x 50% = 200,000
SEESH g2 400,000,000& x 50% = 200,000
oM&t 24 TAIHEEZ2(A2-7)
400,000,000 x 50% = 200,000
o M& EUHAPT~A A2 SAIHEEZ & 2LH
200,000,000& x 50% = 100,000
om=d AR OtA EAIHEEZZ L
400,000,000 x 50% = 200,000
& ARIIEAR 2AEZ 4
400,000,000 x 50% = 200,000
oXXENW IS4 £ & 2LH
400,000,000 x 50% = 200,000
o0& F=u~dtde2t SAIHE LSS
400,000,000 x 50% = 200,000
oEHQt Ot ZAIHEEZ2(Z2-1)
600,000,000& x 50% = 300,000
oGl B2 HEL=Z

600,000,000& x 50% = 300,000

o

oy




ZH:(2000)AFSIOHERH]  2t:(2400) =S XIHALSIOHE & :(2410)FEH - XA Mgt (2411) A & = 2re| NIAIEE: (220) REHI A [ME][ER: ]
p = | 85 2 3
OF &b o & = | S
HLLEME L NAE = R -
- 61,305,610, 55,748,600 5,557,010
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Z:(2000) AFZIOHEEHI 2:(2400) FEHRLAXIAALSIOHE &F:(2410)F - XA Mgt (2412) FEIE Al 2] NIAIES: (220) KR ALY [NE] [ 2]
O &b <R | < N = J| =
.2 g Mg AAE = of &b o = &8 9
2000 [= 0 = 41,000 Xl 685,536 =— 0]
AF2I O HI 33,175,936 32,449,400 726,536 [ 0 =2 0 u 0 ]
2400 [= 0 & 41,000 X 685,536 = 0]
FEH XA A2 OH 2 H] 33,175,936 32,449,400 726,536 [ 0 = 0 0 ]
2410 [= 0 = 41,000 Xl 685,536 =— 0]
=8 - XH 33,175,936 32,449,400 726,536 [ 0 =2 0 u 0 ]
2412 [= 0 & 41,000 X 685,536 =« 0]
FEIE A2 33,175,936 32,449,400 726,536 [ 0 = 0 0 ]
200 [= 0 = 41,000 Xl 685,536 =— 0]
AL Off &F 33,128,336 32,401,800 726,536 [ 0 =2 0 u 0 ]
220 [= 0 = 41,000 X 685,536 o« 0]
A HIAHS 6,099,836 5,373,300 726,536 [J 0 = 0 0 ]
308
XX EHHI S 6,000 0 6,000
oA
6,000 0 6,000 01 HXHILELS
cAFRHIHLRFAZ A3 6.000
=S 3,000,000& x 12|& = 3,000
S 2,000,000& x 1712 = 2,000
S 1,000,000& x 121& = 1,000
402
RI2+ X2 0l 35,000 0 35,000




ZH: (2000) AFSIOHREHI  2H:(2400)FEHL X AFSI N &F:(2410)FEH - X KIgt: (2412) = T Al 2] HIKIES: (220) Kt JIAFES LENEER-ED
i = J P =] 5
Of &b of l @ o = p) x
= 2.8 MIE HIMIE = o & ) = B o
bS]
35,000 0 35,000/01 QI2IX =22 X
O AL A RID| AL XA 35,000,0002 x 172% = 35,000
403
XX SRS 1,167,336 481,800 685,536
=20 &
1,167,336 481,800 685,536|01 KHXISHAI K= 2 =X
CQIINZEN Z=HSHIMLAY (8MALL)
1,371,072,0002 x 50% = 685,536
(X1) 685,536
M = 8 A 33,175,936 32,449,400 726,536
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ZH:(2000) AbSIOHEEH] 2t HAASIOHEE &F:(2410) SDNES KISt: (2413) X & 2te| NIAISE: (210) 2 = A} (ME] [ :HH]
j _
ni; o & 2 3] " 2 =
X BB ME . HAIE Ao = 3o h
2000 (2 A545 S 11,000 X 0 = 0]
NI 1,433,567 1,428,012 5555 [l 0 = 0 0 ]
2400 (2 A5.445 & 11,000 X 0 = 0]
ZEH QIR O AFS| O 2 H| 1,433,567 1,428,012 5,555 [l 0 = 0 0 ]
2410 (2 A5.45 S 11,000 X 0 = 0]
eI & 1,433,567 1,428,012 5555 [l 0 = 0 0 ]
2413 (2 A5.445 & 11,000 X 0 = 0]
X = 2 1,433,567 1,428,012 5,555 [l 0 = 0 0 ]
200 (2 A5.45 S 11,000 X 0 = 0]
ARSI Ol A 1,374,666 1,369,111 5555 [l 0 = 0 0 ]
210 (2 A5.445 & A10.000 X 0 = 0]
EEAY 546,755 562,200 15,445 D] 0 = 0 0 ]
201
2oy 0 52.000 A52.000
0 52,000 AB52.000/01 LEr2 Y|
oE2Y HUKNE HE (B2AXF) - A30.000
(2) 15,000
(%) A 15,000
G2y ERE HA (U2AXN) - A22.000
(2) A 11,000
(£) A11,000




Z:(2000) AbSIOHEEH] 20 (2400) FEHL XIS ALSIOHEY & (2410) =4 - XA HIE: (2413) X & 22| HIAIE: (210) B = AL [ME] [ &) ]
ot = 7 X 2 5
oI & = N &t = Jl =
.28 HE. MM = of &b o = & o
202
04 Bl 0 8,000 8,000
0 8,000 A8,000[01 =LHOIHI
ofzY PRFX HEF (U5ZH) = 23,200
=) A 1,600
== A 1,600
oL 2Y YPRFA NEHHE (UI=3H) = A4,800
= A2,400
< A2,400
308
AXSHS 546,755 502,200 44,555
old
546,755 502,200 44,555101 AXHMBAELS
cXEZSREX Hel
46,755,000& - 52,200,000& = N5,445
=) Ab,445
oY U HEHSRUHAS (UHSFH) 50,000
=) 30,000
<) 20,000
EHAALY
(400,000,000& - 300,000,000& ) x 50% = 50,000




ZH(2000) AtSIOHEHI 201 (2400) =EAL RIS ALSIOHEE & (2410)F& - XX HIE: (2413) X & 22| el &R ]
nt = = s
- of AF oH o = k=) =
&2 S NS AAE =] & N = & 9
30,000
20,000
220
A AFS 827,911 806,911 21,000
308
INPNR=PS (S 447,911 426,911 21,000
ol
447,911 426,911 21,000/01 AXSHMBAELZ
CcE2Y U ASHS ROAY SNES
10,000,000& x 7IHAl= x 30% = 21,000
A& g A 1,433,567 1,428,012 5,555




